2. HEER [%F] KRG T4 b)—F - VA KEE

FREF—F AV [4/2(7k)]
KPREE Iz B 22 F = HWE
KIREZR104—MEL2 Ik B4z F77- 1 FBEA43 = MAMEE]]-ZEHF64
[ DD ] [ D@ ] [ ED ] [ @ ] [ F@ | [ F@ ]
ARZEDES3 K73 H/#&48  HET77 Iz & 22775 2EER4A3 BRBEARTT {Ef%FESL0 —HAMEI66 LAk SE63  HAE60 EIEFE30
| 0® | | EQ | | F® |
REEY — 7 - 3R [4/3(K)]
itV —7o 26z =4 3 - AL e
K| pear|=mnm|| B & | e |wrea| A || B & | EAs P&
PN E S 60-58|107-73 2 0 1 = 46-60[59-84| 0 2 3
B4 F |58-60 86-41| 1 1 2 wEEES |60-46 71-74 1 1 2
—mmEe |73-107[41-86 0 2 3 #E  |84-59|74-71 2 0 1




